
Math 2924, Problem Set, October 29

PROBLEMS:

# 1) State the Test for Divergence. In the list below find at least two infinite series for which the

Test for Divergence applies. (Number 14 is one—can you show it?)

# 2) How many geometric series can you find? Calculate the sum of those that converge. (Number

8 is one.)

# 3) Series number 29 is a p-series. Does it converge?

# 4) Find infinite series in the list below for the integral can be applied to show convergence, and

another to show divergence. Calculate the integral. (Try number 32.)

# 5) Find some infinite series in the list where the Comparison Test can be used to determine

convergence/divergence. (How about number 23?)
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